
Addition Bridging    Primary 6 and 7 

 

 

 

E=7,000 

 

1. Say the sum and estimate the answer by rounding. 

2.  Eight add seven equals fifteen which is 1 ten and 5 units. 

3.  Six add five add one equals twelve, which is 12 tens and that is 1 hundred and 2 tens. 

4.  Seven add nine add one equals seventeen which is 17 hundreds and that is 1 thousand and 

7 hundreds. 

5.  3 add 2 add 1 equals 6 thousands. 

6. Draw a line under the answer and compare it to your estimate 
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 3 7 6 8 

+ 21 91 51 7 

 6 7 2 5 


